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QUESTION 1

Huawei Oceanstor 900 adopts erasure code technology to protect the data. If an office has six nodes, and the customer
wants to have one office, what redundancy model protection level can be used? (Multiple choice.) 

A. 4 + 3: 1 

B. 6 + 3 

C. 4 + 2 

D. 12 + 3: 1 

Correct Answer: AD 

 

QUESTION 2

Which of the following is true regarding a primary reason why a business would buy an N8500 (V200R001) cluster
system for database services. 

A. The business disk uses the SAS disk, RAID type configured as 11 disk RAID6 

B. The pre-fetching rate of the service LUn is set to "not prefetch" 

C. Slice depth of the business LUN, select "32K" 

D. Map the LUN to the host group of the N8000 instead of the host. The main LUN ID is configured by default, starting
from 0 

Correct Answer: BC 

 

QUESTION 3

In the disaster recovery solutions provided by Huawei in Hong Kong and China in three different centers, which of the
following combinations are recommended for the selection of networking and replication technologies? 

A. City Ethernet, asynchronous data replication 

B. City FC network, synchronous data replication 

C. Off-site Ethernet, asynchronous data replication 

D. remote FC network, synchronous data replication 

Correct Answer: BC 

 

QUESTION 4

To cluster the server\\'s public IP address in an Oracle RAC deployment process, a private IP address is written to the /

H13-629 VCE Dumps | H13-629 Practice Test | H13-629 Braindumps                                2 / 7

https://www.leads4pass.com/h13-629.html
https://www.leads4pass.com/h13-629.html
https://www.leads4pass.com/h13-629.html


https://www.leads4pass.com/h13-629.html
2024 Latest leads4pass H13-629 PDF and VCE dumps Download

etc / hosts file, along with the Virtual IP address, cluster unique access IP address and public IP. Which of the following
configuration is correct? (all subnet masks are 255.255.255.0) 

A. 127.0.0.1 localhost 

129.22.221.200 cluster-scan 

129.22.221.201 node1 

129.22.221.211 node1-vip 

192.168.222.211 node1-priv 

129.22.221.202 node2 

129.22.221.212 node2-vip 

192.168.222.212 node2-priv 

B. 127.0.0.1 localhost 

129.22.221.200 cluster-scan 

129.22.221.201 node1 

129.22.221.211 node1-vip 

192.168.222.211 node1-priv 

129.22.221.202 node2 

129.22.221.212 node2-vip 

192.168.221.212 node2-priv 

C. 127.0.0.1 localhost 

129.22.222.200 cluster-scan 

129.22.221.201 node1 

129.22.221.211 node1-vip 

192.168.222.211 node1-priv 

129.22.221.202 node2 

129.22.221.212 node2-vip 

192.168.222.212 node2-priv 

D. 127.0.0.1 localhost 

129.22.221.200 cluster-scan 

129.22.222.201 node1 
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129.22.221.211 node1-vip 

192.168.222.211 node1-priv 

129.22.221.202 node2 

129.22.221.212 node2-vip 

192.168.222.212 node2-priv 

Correct Answer: A 

 

QUESTION 5

Mainstream virtualization technologies include hardware virtualization (Hypervisors) and operating system virtualization
(Containers). Which are key characteristics of hardware virtualization? (Multiple Choice) 

A. Multiple VMs simultaneously run on a single physical server. 

B. VMs on the same server are isolated from each other. 

C. A VM encapsulates the entire system into one or more files. 

D. A VM on one server can run on another server without any modification. 

Correct Answer: ABC 

 

QUESTION 6

Many "log file switch" wait events are observed during Oracle performance diagnosis, which ways can be used to
optimize the performance? (Multiple Choice) 

A. Increase log cache. 

B. Migrate the log file to the high performance layer. 

C. Increase the number of log groups. 

D. Increase the concurrency and throughput for archiving the log file. 

Correct Answer: ACD 

 

QUESTION 7

A company\\'s daily real-time online transaction data is about 500G and 30G daily new data, the new data is frequently
called within a week after the production. The company employees 80 people, each person\\'s mailbox space is 5G, and
the average space utilization rate is 60%. For a six months demand, A company should configure which of the
following? 

A. High-performance layer 550G, performance layer 250G; capacity layer 6T 

H13-629 VCE Dumps | H13-629 Practice Test | H13-629 Braindumps                                4 / 7

https://www.leads4pass.com/h13-629.html
https://www.leads4pass.com/h13-629.html
https://www.leads4pass.com/h13-629.html


https://www.leads4pass.com/h13-629.html
2024 Latest leads4pass H13-629 PDF and VCE dumps Download

B. High-performance layer 400G, performance layer 250G; capacity layer 7T 

C. High-performance layer 800G, performance layer 400G; capacity layer 6T 

D. high-performance layer 600G, performance layer 300G; capacity layer 7T 

Correct Answer: C 

 

QUESTION 8

What value can the HP UN order lvextend-m parameters be set? (Multiple choice.) 

A. 0 

B. 1 

C. 2 

D. Unlimited 

Correct Answer: BC 

 

QUESTION 9

Which of the following describes the correct process of disaster recovery and Huawei disaster recovery solution? 

A. The disaster recovery side to create a snapshot Map the snapshot to the disaster recovery host Disaster Recovery
Host scans the disk Start disaster recovery application Test disaster recovery applications 

B. Forcibly switch the replication relationship Map lun Start disaster recovery application Test application started
successfully Resume production business 

C. Stop production application and dismiss the host mapping Switch the replication relationship Map lun Start disaster
recovery application Test application started successfully 

D. Release the host mapping Switch the replication relationship Map lun Start disaster recovery application Test
application started successfully 

Correct Answer: B 

 

QUESTION 10

True or False, Info Replicator supports copying the data at the same time. The basic attributes of the home directory,
extended attributes, ACL (access control list). WORM (write-once-read-many) and CIFS / NFS share configuration
information is known as a wealth island from the end. When a disaster occurs, master and slave sites can quickly take
over the business after the switch. 

A. True 

B. False 
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Correct Answer: B 

 

QUESTION 11

When using lvm to create a mirrored logical volume, you should choose what kind of log file to save in order not to
impact performance and quickly recover from a single drive failure? 

A. store the log in memory 

B. Store the log in any one of the two PVs 

C. Store the log in the third PV of the current VG 

D. Save the log in another VG pv 

Correct Answer: C 

 

QUESTION 12

In Huawei OceanStor 9000, which technologies are used to improve the performance? (Choose three.) 

A. SMB3 Multichannel is used to bring multi-core CPU and bandwidth resources of clients into full play, thereby
significantly improving the performance. 

B. The OceanStor DFS can combine write I/Os to a disk into large sequential I/Os, boosting system performance. 

C. Internal file replication can be completed at a high speed in the system, without involving the client. 

D. The back-end network can be established based on 10GE or PCIe. High-speed connections between nodes reduce
internal latency, thereby offering superb performance. 

Correct Answer: ABC 

 

QUESTION 13

An OceanStor 18000 storage system carries the VDI service. The read/write ratio of the front-end workload is 2:8. The
customer requires 20,000 IOPS to be offered. 10k rpm SAS disks (assuming that the average seek time is 3 ms) are
used, and RAID 5 is configured. In this scenario, which is the minimum number of disks that must be configured for the
storage system? 

A. 600 

B. 408 

C. 387 

D. 550 

Correct Answer: D 
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QUESTION 14

The OceanStor 18000 system used by a client business application has a total of three pools, each of which is a 9-disk
RAID5. Someday analyzing the log of business interruption, we found that there are some scenarios in the system that
caused the failure. What will cause the host access to the stored business in the following scenario? (Multiple choice.) 

A. In the fully redundant group environment, occurred the master reset. 

B. With the BST (bad track) feature turned off, a BST bad track appears on the LUN. 

C. The POOL where the business is located is all thin LUN and not a snapshot. LUN copy, clone and copy services are
configured in the log POOL, which is a space full of print information. 

D. Log in the following print: 2014-01-19 08:04:40} {Receive a disk-fault event of the disk (328) of pool (2) from ctrl.}
2014-01-19 08:40:35} {Receive a disk-fault event of the disk (613) of pool (3) from ctrl.} 

Correct Answer: BC 

 

QUESTION 15

What are the recovery mode drills of the Huawei Replication Director disaster recovery? (Multiple choice.) 

A. Planned Migration 

B. Failover 

C. Business Recovery 

D. fault recovery 

Correct Answer: AD 
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